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Because it is constant = 97N ROW V1D

OVERVIEW

¥"7 stated in the ¥n»72 that we never make a tannery to the west of the city, ‘since
the west wind is constant’. In some text, this reason (in quotes) was not given by
¥"9, rather the X713 explained the ruling of ¥"9, saying that the west wind is constant.
nvoIN negates this reading.
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The text does not read. ‘What is the reason’ (for not making a >p0712 to the west
of the city), rather it is an integral part of the Xn>>92 and that is how it is brought
in the Xnpon.

SUMMARY
The reason of 7770 X°AW °197 is part of the Xn»72.

THINKING IT OVER
Is there a practical difference whether the reason is given by ¥"9, or whether it is
given by the X1?

! Insetting "v"»', would indicate that " merely stated the ruling but did not give the reason. According to this X077,
the X713 gives the reason. N2YIN negates this RO,
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